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Use the PowerPoint to recap co-ordinating conjunctions.
Then use the PowerPoint to explain subordinating conjunctions		when	   if	that	because


Complete the sentences below by matching the second clause that fits the best.

I have done one for you.

	
The children knew they were lost because

	
the evil witch grabbed Hansel.


	
Hansel and Gretel ate the sweets because

	
the children decided to keep.


	
The children were asleep in their beds when

	
the children returned home.


	
The father knew he would feel better if

	
the breadcrumbs had disappeared.


	
The witch had lots of treasure that

	
they were very hungry.




Have a think: would any different conjunctions have worked in these sentences?


Complete the sentences below by adding a conjunction and a second clause.


For example:

The children were miserable because they had been abandoned.




The stepmother was wicked ____________________________________________
__________________________________________________________



Gretel could save her brother ___________________________________________
__________________________________________________________


The children told their father ____________________________________________
__________________________________________________________

